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Match each percentage to the correct equivalent.

75%

40%
15% -

50%

Amir says 0.3 is less than 12% because 3
is less than 12

Explain why Amir is wrong. 03 =030 = 302 Whd. o lﬁlﬁcj@f
thein |27

Here is a grid of 20 squares.

What percentage of the grid is shaded?




Match the decimal cards to the people.

(D- 4= 0,
My decimal is % | t ’

less than 100%, A O

" My decimal cannot be
simplified when it is
written as a fraction. -

" My decimal is 10%

3
less than 4

"Mg decimal is greater | 0.z |
than 60%.  0:65

Working Deeper

Complete the missing information using

a decimal and a percentage.

Can you find more than one solution?
20

g% % = 75% —|#%|— 3 tenths

40% = 4
° T %




